[ of reconstructed tracks vs transverse ref point position | N of associated (recoTosim) tracks vs transverse ref point position

10°

10°

= =
o 1S

% S
Ty

=
o

S
Ty

[
e

0.95!
2 10*2

| N of associated (recaToSim) looper tracks vs transverse ref point position N of reconstructed tracks vs transverse ref point position N of associated (recoTosim) tracks vs transverse ref point position

10*

10°

10°

10

10°

10°

[N
o

H w
|

=
N O
T

L
11 *

R e b

-20 -15-10 -5 0 5 10 15 20



	Contents
	Page 1


